4 3 2 1
THIS DRAWING IS UNPUBLISHED. | RELEASED FOR PUBLICATION - REVISIONS
© COPYRIGHT B ALL RIGHTS RESERVED.

- y — P LTR DESCRIPTION DATE DWN APVD
PROJECT PRJ—16—000909157 A1 | REVISED PER ECR—16-013123 19seP2016| KK | GG
PART NO. X—2308342—X

DESCRIPTION  |FULL METAL HOODS SIZE 3
CUSTOMER GENERAL MARKET
B L2,1 . 1-2308342—3 1-2308342—7
i ]
|
O
~F -
= _
l
I(@ @« N 2 | BN
N v |
o | ] A = V
537
12 128
| ?ﬁ
< D Q | |
L]
Case
(@)
(@)
NOTES:
1. FINISH: THIS DRAWING IS A CONTROLLED DOCUMENT. |™N 02AUG2016
1-2308342—1 TO 1-2308342—8 — CASE RAW aRAN K =TE TE Connectivity
1-2308342—9 TO 2—2308342—6 — CASE NICKEL—PLATED DIMENSIONS: T e o NASEKHAR G
2. LOCK'NG SCREWS NlCKEL_PLATED mm Bm I1$é)902176183—0ré1 ’ GUNASEKHAR G FULL METAL HOODS SIZE 3
OTHER SCREWS: ZINC—PLATED 0 pLCT ET- PRODUCT SPEC
3. TEMPERATURE RANGE: —40°C TO +90°C g@ 2PlC & - R
4. CABLE DIAMETER WITH EXTERNAL DIAMETER CABLE CLAMP: 4—14 mm. 3 s i:i B 75 T cace cooe ToRAWING 16 RESTRIGTED 7o
5. STRAND DIAMETER OF CRIMP FLANGE: 2.7—8.7 mm. VATERIAL G —Twee A2100779/C=2308342 _
) CUSTOMER DRAWING SRENTS I 1 o2 |™ A1
1471-9 (1/15)

Downloaded From | Oneyac.com

w 2308342



https://www.oneyac.com

4 3 2 1
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION - REV'S'ONS
© COPYRIGHT — ALL RIGHTS RESERVED. P LTR DESCRIPTION DATE DWN APVD
— SEE SHEET 1 — —
1-2308342—8 | FULL METAL HOODS SIZE3—8 |1-2308334—6| 1-2308334—4 LOCKING SCREW (M3 LONG KNURLED) LOCKING SCREW (M3 SHORT KNURLED) M3 72
S
OVER | 4_
1-2308342—7 | FULL METAL HOODS SIZE3—7 |1-2308334—5| 1-2308334—3 | LOCKING SCREW (4—40 UNC LONG KNURLED)| LOCKING SCREW (4—40 UNC SHORT KNURLED) 4UN‘EO 72 D
1-2308342—6 | FULL METAL HOODS SIZE3—6 1-2308334—6 LOCKING SCREW (M3 LONG KNURLED) 50.0 | M3 75
1-2308342—5 | FULL METAL HOODS SIZE3—5 1-2308334—5 LOCKING SCREW (4—40 UNC LONG KNURLED) 50.0 4U_NAEDO 75
1-2308342—4 | FULL METAL HOODS SIZE3—4 1-2308334—4 LOCKING SCREW (M3 SHORT KNURLED) 240 | M3 67
1-2308342—3 | FULL METAL HOODS SIZE3—3 1-2308334—3 LOCKING SCREW (4—40 UNC SHORT KNURLED) 24.0 | V0 67
1-2308342—2 | FULL METAL HOODS SIZE3—2 1-2308334—2 LOCKING SCREW (M3 W/SPRING WASHER) 207 | M3 66
1-2308342—1 | FULL METAL HOODS SIZE3—1 1—2308334—1 LOCKING SCREW (4—40 UNC W/SPRING WASHER) 20.7 | 0| 66
PART NO. DESCRIPTION SUB—PART NO. DESCRIPTION WEIGHT
A d ’
PART NO. (CASE RAW) LOCKING SCREWS 7 c
2-2308342—6 | FULL METAL HOODS SIZE3—16 | 1—-2308334—6 | 1—2308334—4 LOCKING SCREW (M3 LONG KNURLED) LOCKING SCREW (M3 SHORT KNURLED) M3 72
S
OVER | 4_
2-2308342—5 | FULL METAL HOODS SIZE3—15 |1-2308334—5 | 1—2308334—3 | LOCKING SCREW (4—40 UNC LONG KNURLED) | LOCKING SCREW (4—40 UNC SHORT KNURLED) 4UN‘EO 79
2-2308342—4 | FULL METAL HOODS SIZE3—14 1-2308334—6 LOCKING SCREW (M3 LONG KNURLED) 50.0 | M3 75
2-2308342—3 | FULL METAL HOODS SIZE3—13 1-2308334—5 LOCKING SCREW (4—40 UNC LONG KNURLED) 50.0 4U—N‘EO 5
2-2308342—2 | FULL METAL HOODS SIZE3—12 1-2308334—4 LOCKING SCREW (M3 SHORT KNURLED) 240 | M3 67
2-2308342—1 | FULL METAL HOODS SIZE3—11 1-2308334—3 LOCKING SCREW (4—40 UNC SHORT KNURLED) 24.0 4U_N‘EO 67
2-2308342—-0 | FULL METAL HOODS SIZE3—10 1-2308334—2 LOCKING SCREW (M3 W/SPRING WASHER) 207 | M3 66 S
o0
(@}
_ M
1-2308342—9 | FULL METAL HOODS SIZE3—9 1-2308334—1 LOCKING SCREW (4—40 UNC W/SPRING WASHER) 20.7 4UN‘EO 66 5
B
PART NO. DESCRIPTION SUB—PART NO. DESCRIPTION WEIGHT
A d ’
PART NO. (CASE Ni—PLATED) LOCKING SCREWS J
NOTE: '
 CRIMP FLANGE PN *—2308349—* TO BE ORDERED SEPARATELY. .l* - ' —
* CRIMP BARREL TO BE USED IN COMBINATION WITH THE FLANGE PN *—2308350—* TO BE /
ORDERED SEPARATELY. J 4 4
* CABLE CLAMP SCREW VERSION PN *—2308272—* TO BE ORDERED SEPARATELY. u
CRIMP FLANGE CRIMP BARREL CABLE CLAMP
THIS DRAWING IS A CONTROLLED DOCUMENT. |™WN 02AUG2016
CHtflRAN K 0oAUGI0TE -=TE TE Connectivity A
GUNASEKHAR G

DIMENSIONS: TOLERANCE:
mm DIN ISO 2768—m

02AUG2016 | NAME

APVD
GUNASEKHAR G
PRODUCT SPEC

APPLICATION SPEC

FULL METAL HOODS SIZE 3

=&

MATERIAL

4 PLC
ANGILFS
FINISH

+ —
WEIGHT

SIZE CAGE CODE | DRAWING NO

A2(00779

C=2308342

RESTRICTED TO

CUSTOMER DRAWING

SCALE

NTS

SHEET

REV

Al

1471-9  (1/15)

Downloaded From | Oneyac.com



https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	>>TE Connectivity(泰科)

